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Consider the following recurrence relations. Express each in Big-O(). Show all your work. You 
can use the Master Theorem (if applicable) or any other technique. T(1)=1 in all the cases. ?A&
.#8(,$&%'B"> 

A) T(n) = T(n/2) + 3n  
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Consider two binary trees T1 and T2. Assume nodes in both trees are labeled with integer numbers.  
G%+8(8,8#(: We say two nodes in trees T1 and T2 #H%/1'. if the node in T1 is in the same position 
(same level and being left or right) as the 



Full name: _________________       Net ID:_________________ 
 

The new tree T3 will look like this: 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
Again, the input to the function is a pointer to the root of (possibly empty) tree T1 and a pointer to 
the root of (possibly empty) tree T2 and it returns a pointer to the root of tree T3.  


